and adaptor

Due to continuous product developments, please check for the latest updated version of
this product manual at: www.novopro.co.uk

Supplied Parts:
mmr| oy | I |

M4 x 12 screw (x4) M4 x 30 screw (x4) M5 x 12 screw (x4) M5 x 30 screw (x4)
M4 lock washer (x4) M5 lock washer (x4) M4/M5 washer (x4) M4/M5 10mm spacer (x4)

(please check that you use the correct fixings as required by your TV/monitor manufacturer)

The TVM35 is designed to mount a TV or monitor (up to
12Kg) to the top of a 35mm pole using the standard
VESA 75/100/200 mountings with M4/M5 sized screws.

Mounting the plate: Novopro supply the parts listed
above but please ensure that you check with your TV/
monitor manufacturer which screws are required to
safely and securely mount the TVM35 to the back of
your product. Novopro cannot be held responsible
for damage or any subsequent issues caused by
incorrect fitment.

The metal plate adjusts in angle and rotation and itis
IMPORTANT THAT YOU ENSURE THAT ALL FIXINGS ARE
FULLY SECURE before using this product and please
DO NOT exceed the Maximum weight limit of 12Kg

All Novopro products are thoroughly QC checked prior to dispatch but should you have any queries
or questions then please contact your place of purchase or contact us at: info@novopro.co.uk

Novoprois a trade only supplier and only supply wholesale to trade resellers.

Novopro products are designed and engineered in the UK and manufactured in China.
Email: info@novopro.co.uk Web: www.novopro.co.uk

Due to continuous product developments & improvements, specifications and appearance
are subject to change.

© Copyright Novopro Ltd 2015. E&OE.




	页 1

